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1.  The value of x for the expression given below is
(193), = (623),
(a) 13 (b) 14 (c) 15 (d) 16
2. The hexadecimal equivalent output of the following operation is
(FC2),, x (DE);( =?
(a) AAA3C (b) EAA3C (c) DAA3C (d) DBB3C

3. The dual of the Boolean expression (A + AB)=A + B is :

(a) A(A+B)=AB (b) A(A+B)=A
(c) A«(B-C)=(A-B)-C (d A+B-C=(A+B)(A+C)
4.  The expression for shaded area in the given Venn diagram is

(a) AB+BC (b) ABC + ABC (c) ABC + ABC (d) None of these
5.  Convert (396),, to excess-3 code
(a) 110001100 (b) 110001111 (c) 110001101 (d) 100011111

6.  All Boolean expressions can be implemented with
(a) NAND gate only
(b) NOR gate only
(c) Combination of AND, OR and NOT gate
(d) All of these

7.  In an even Parity scheme which of the following words contains an error ?

(a) 10101010 (b) 11110100 (c) 11110101 (d) 10100000
8.  The expression for difference for full substractor is
B D
A FS
bi bo
(a) A®B®bi (b)) A©®B®bi (c) A®B (d A®B
9.  Which of the following is not true ?
(@) A-A=A (b) A-A=0 (c) A+A=0 (d A+1=1
10. An exclusive-OR function is expressed as
(a) AB+AB (b) AB+AB (c) (A+B)+(A+B)(d) (A+B)+(A+B)

11. The OR operation can be produced with
(a) Two NOR gates(b) Four NAND gates (¢c) Three NAND gates (d) Both (a) and (¢)

12.  Which of the following logic gates will have an output of 1 ?
(

0
b ) —
0
)R @ | )D_
13.  Which of the following flipflop is used as a latch ?

(a) S-RFF (b) T-FF (c) D-FF (d) J-K —FF
O v Ml — | e




1. TRfuR =S xRaARIE ?
(193), = (623),

(a) 13 (b) 14 (c) 15 (d) 16
2. T AT 1 ZHETSHINS WA 1YL 1+ H 8 H1 2 (FC2),, x (DE), =?
(a) AAA3C (b) EAA3C (c) DAA3C (d) DBB3C
3. T =59 (A + AB) = A + B 1 3T FT &I 2
(a) A(A+B)=AB (b) A(A+B)=A
(c) A«(B-C)=(AB)C (d A+BC=(A+B)(A+C)

4. Teuw e 3 < § SRAifRd 85 I S w1 G ?

@s
A\

(a) AB+BC (b) ABC + ABC (c) ABC +ABC (d) 378 A IS T
5. (396),, %! excess-3 IS H 9 -

(a) 110001100  (b) 110001111 (¢) 110001101 (d) 100011111
6. T} T SHSTR] 1 AT fehaT ST Hehdll & :
(a) %add NAND 2 & (b) et NOR T2 &

(¢) AND,ORTAITNOT RS T E  (d) 37 o+
7. wnuEar A E efafaa i@ P asg dgfe B 2

(a) 10101010 (b) 11110100 (c) 11110101 (d) 10100000
8. ol HeHH I [SHIH hl STeh HehIa :
B D
A FS
bi bo
(a) A@B®bi (b) A@®B®bi (c) A®B (d A®B
9. frafafgadawRoaadiTdig 7
(a) A-A=A (b) A-A=0 (c) A+A=0 @ A+1=1
10. TS TR (X — OR) 3TR HaeH i fohdd g @ for@ wehd 8 2
(a) AB+AB (b) AB+ AB (c) (A+B)+(A+B)(d) (A+B)+(A+B)

11. OR =M ! ST Hehd &
(3 2NORTRT (b) 4NANDWH  (¢) 3NANDTRH  (d) qHi (a) 3R (c) |
12. Trferfaa @ifses figg # & ferment amsege 1 8 2

D— ) >
— @) r—

13. f=fefiaa 9 9 fora feem-wata 1 s = 6 &0 8 fera Srar g 7
(a) S-R FF (b) T-FF (c) D-FF (d) J-K—FF
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Out of TRAP, RST 7.5, RST 6.5 and INTR, which interrupt has highest priority ?

(a) TRAP (b) RST 6.5 (c) RST7.5 (d) INTR
What is the size of stack pointer register in 8085 ?

(a) 8-bit (b) 16-bit (c) 32-bit (d) 64-bit
What is the clock frequency of 8085 microprocessor ?

(a) 3 MHz (b) 9 MHz (¢) 12 MHz (d) 16 MHz

In 8085, while executing LDAX B, the accumulator is loaded with .
(a) The content of memory location pointed by BC register pair

(b) The content of register B only

(c) 8-bit address stored in register B

(d) None of these

Which semiconductor memory uses more number of transistors ?
(a) DRAM

(b) SRAM

(c) Both (a) and (b) uses equal number of transistors

(d) None of these

Which one of the volatile memory requires regular refresh cycles ?

(a) SRAM (b) DRAM (c) Hard disk (d) Floppy disk
In 8085, when reset is activated program counter goes to

(a) 0034 H (b) 003CH (c) 0000 H (d) 0032 H

In 8085, which one is a non-maskable interrupt ?

(a) RST7.5 (b) RST 6.5 (c) RSTS.5 (d) TRAP

Which of the following command of 8085 will move the value at Port-3 to Register-2 ?
(@) MOV P2,R3 (b) MOV R3, P2 (c) MOV 3P, R2 (d) MOV R2, P3

What operation is performed by the following instruction ?

ORL A, direct
(a) OR register to accumulator (b) OR direct byte to accumulator
(c) OR accumulator to direct byte (d) None of these
In 8085, what type of data is handled ?
(a) Positive (b) Negative (c) Both (a)and (b) (d) None of these
Which one is a 3-byte instruction ?
(a) ACALL (b) L CALL (c) SIMP (d) None of these
In 8085 how many pins are assigned to Port-0 ?
(a) 4 (b) 8 (c) 16 (d) 32
Who introduced RISC architecture ?
(a) IBM (b) INTEL (c) MOTOROLA (d) SUN Microsystem
To reduce the memory access time, we generally make use of
(a) Heaps (b) SDRAMS
(c) Caches (d) High capacity RAMS
Which of the following steps is not included in the process of reception ?
(a) Decoding (b) Encoding (c) Storage (d) Interception

The peak amplitude of the simple amplitude modulated wave is given by
(@) Vet Vy (b) Vy () V¢ (d) Ve + Vysinoy,t
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14. TRAP, RST 7.5, RST 6.5 3T INTR ® ¥ fop& 3¢t i Ta=a MATHehdT & 2

(a) TRAP (b) RST 6.5 (c) RST7.5 (d) INTR
15. 8085 H Teh Uig=et TAE o1 ol |ISS BT & ?

(a) 8-fare (b) 16-fse (c) 32-fse (d) 64-fse
16. 8085 TTSSHISIEER hl Fefeh ST =T ] 2

(a) 3T &S (b) 9 B gLt (c) 12T &S (d) 16T g

17. 8085 H LDAX B %! UFR{IaRIZ i b G TRGeTeT § 1 SIS BT & 7
(a) TH TAIhIA T hee T Td1t BC T H R |
(b) T B &1 shee et
(c) UTEI B &7 8-bit TgH

(d) T8 A HIE T
18. =1 o & o it Sfierrg et HHN) SUTeT BT | STt b1 SUINT il & 7

(a) DRAM

(b) SRAM

() (a) 3R (b) QT &t R ZifTeet gcTe et 3 |

(d) T8 A HIE T
19. i & iR au 1 fafia foky aefea =g 2

(a) SRAM (b) DRAM (c) =T feen (d) ATt feweh
20. 8085 T e 82 bl Tfsha HTd & a1 TUTH H13<L hal JdT & ?

(a) 0034 H (b) 003C H (c) 0000 H (d) 0032 H
21. 8085 H i | 3L AH-TTEHeA & 7

(a) RST 7.5 (b) RST 6.5 (c) RSTS5.5 (d) TRAP

22. 8085 <hl I HI HHTS T1S-3 hl Ao T2 H A I & ?
(a) MOVP2,R3 (b) MOVR3,P2  (c) MOV3P,R2  (d) MOV R2, P3

23. Teu U s dH @ S 91 STRIA BT R ?
ORL A, direct

(a) 3 (OR) TR g Tt (b) 3 (OR) STEFR TTET g TR
(c) AT (OR) TRHENA g ST5LH ST5E (d) 37 @ 1S TE
24. 8085 HfrHdE HI ST eeA B ?

%m (b) ﬁﬁﬁa% (c) € (a) 3 (b)  (d) TH A BT
25. i 3-S5 SR & 7
(a) A CALL E|Ts(i) L CALL (c) SIMP (d) T T HIS T
26. 8085H UK — O HIfpai M Q& ?

(a) 4 (b) 8 (c) 16 (d) 32
27. RISC 3Tfehearar feha I[& feparm ?

(a) IBM (3TT% &t TH) (b) INTEL (32

(c) MOTOROLA (HIERIeT) (d) SUN Microsystem (F HTSshIHEH)
28. THR} UHHY THT 1 HH Hid b [T 87 AR 9T 1 61 TIT hid & 7

(a) B (b) W (c) (d) ST & <t T
29, TlwE o s o fafy gufea w&i St 2 7

(a) Srenife (b) ThITET (c) R (d) 3TWEEH
30. fowoet ufteieg wiggeieH al 1 Jifiehan ufiterege g 3

(@ Ve+Vy (b) Vy (c) V¢ (d) Ve +Vysinoy,t
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46.

The modulation index of an AM wave is given by :
Ve Vm
(a) V_M (b) V_c (c) (VetVy2 (d) (Ve—VW2

In the FM system, the level of frequency deviation depends on
(a) Message amplitude (b) Message frequency
(c) Both Message amplitude & frequency (d) Message amplitude, frequency and phase

A telephone signal of 4 kHz is to be transmitted by PCM. If the signal to quantization noise
is to be attend of 40 dB, the number of levels into which the signal is to be encoded will be

(a) 32 (b) 64 (c) 81 (d) 128
Indicate the antenna that is not wide band :

(a) Discone (b) Folded dipole (c) Helical (d) Marconi
Which of the following does not apply to the Yagi-Uda Antenna Array ?

(a) Good Bandwidth (b) Parasitic elements

(c) Folded dipole (d) High gain

A message signal has maximum frequency of 4 kHz, the minimum sampling frequency will
be :

(a) 2kHz (b) 4kHz (c) 8kHz (d) 14 kHz
The bandwidth of AM wave is given by

(a) fc+fm (b) fc—fm (¢) 2fm (d) 2fc
The wide band FM is the case where the modulation index value is

(a) Around Zero (b) Much less than unity

(c) Larger than unity (d) None of these

A superheterodyne receiver with IF frequency of 450 kHz is tuned to a signal at 1200 kHz.
The image frequency will be
(a) 750 kHz (b) 900 kHz (c) 1650 kHz (d) 2100 kHz

In a 100% Amplitude modulated signal, if the total transmitted power is P, then carrier power
will be :

2 1 1 1
(a) §P (b) EP (c) §P (d) ZP

Calculate the percentage power saving, when the carrier & one of the sideband are
suppressed in an AM wave modulated to a depth of 100%.

(a) 83.3% (b) 70.0% (c) 89.5% (d) 60%

Pre-emphasis deals with

(a) emphasizing low frequency components

(b) emphasizing high frequency components

(c) emphasizing a band of mid frequency components

(d) eliminating low frequency components

If the operating frequency of an antenna is 1 MHz. Then what is its minimum mechanical length ?
(a) 100 m (b) 200 m (¢) 75m (d) 400 m

A dipole antenna carries RMS current of 300 A and its radiation resistance is 2 Q. Find the
power radiated by the antenna.

(a) 135kW (b) 200 kW (c) 180 kW (d) 90 kW
Antenna which provide circularly polarized wave

(a) Helical Antenna (b) Dipole Antenna

(c) Yagi-Uda Antenna (d) Parabolic reflector antenna
Digital communication refers to the transmission of :

(a) Sequence of digital message (b) Digitized Analog signal

(c) Both (a) & (b) (d) None of these
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31. TH AM (T.TH.) TUT Sl HISIIIH S-S Bl o
\Y% \%
() V—; (b) V—l\cd © (VetVy2  (d) (Vo= V)2
32. TH.W. (FM) faeen § smaft w1 2o =1 ofae fore W snamf@ grar & 2
(a) T UfERE . (b) HE A . .
(c) S UReACHS TE SR gl (d) HES TfeTeg, g T & i W
33. d.#H.wm. (PCM) fawen o 4 kHZ et o1 9T 8 Td FaT03M IR 40 dB &1 & a1 fohae T
ITH A T THTet bl Tehlg HiAT U ?
(a) 32 (b) 64 (c) 81 (d) 128
34. HHHUATAES S TR B ?
(a) Tegam (b) Blesg SRUA  (c) Bfethet (d) AR
35. M @1 fersheq it -3gl U o foru o] T Brar R ?
(a) =B defagy (b) WEERF S (¢) BleggsEIA  (d) IATH
36. e HE et i STferenan 3T 4 kHz 8 A1 §¥IfoiT ST e § A fha-t g ?
(a) 2kHz (b) 4 kHz (c) 8kHz (d) 14 kHz
37. TUH. (AM) a1 $i Sefag ardt 8 7
(a) fc+fm (b) fc—fm (¢) 2fm (d) 2fc
38, dI38 9 TH-TH (FM) 1 HigoieH 3 BIdT 8 -
(2) S ITEIE (b)) THATEAFA () THH A (d) ST & 1E T8
39. T GRS FEfet fraeht 3118 uh 31mafd 450 kHz 8 381 1200 kHz o Tomet T a3 feman
2 1 3 A R R ?
(a) 750 kHz (b) 900 kHz (c) 1650 kHz (d) 2100 kHz
40. afe 100% I Higgeice fret # et geiia i P(d) 2 a1 i wifea ferat gt 2
(@) 3P (b) 5P © 3P @ 3P
41, ferd Sfed sr=rd shi TUMET o, AT HREX TR T A15E oS i ST Aigger™H a0 § g fea
T B, 3R ATggers TS 100% & |
(a) 83.3% (b) 70.0% (c) 89.5% (d) 60%
42. N-urhiyg 3 @ fpud gefia @ 2
(a) S G FTel Teehi TSR AT (b) SITET IR AT Teehl TSR T
(c) HEH TG Teehi o Teh 98 WIAR AT (d) A TR dTcl T ol GHT
43. Ffe ek T I SFATRIET Srrafed 1 8 &2 8 o 3Th! A & &y A1Freh Twas b1 grft ?
(a) 100 HreX (b) 200 HieX (c) 75HiX (d) 400 HreT
44. @g;g;@mﬁwmmw300A%®wﬁﬁwm9ﬁﬁazﬂéﬁsaﬁﬁ%ﬁﬁmﬁﬁ
F1 M ?
(a) 135fhetiae  (b) 200 fhet are (¢) 180 fepett ame (d) 90 frart ame
45. SIF A1 TAT MATR gferd 0T YeH HLdm & 7
(a) BfcTehet T (b) Ty dem
(c) AFM-IST T (d) FEIfoTeh FdheTeret Tt
46. fefed Tur <1 arcd ferm T A B 2
(a) TefSteat ww =1 om0 (b) TeReeiisd Tt Hew
......... (¢) @M (2) T (b) () sEEFE
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47. Quantization Noise can be reduced, if the number of levels :
(a) Decreases (b) Increases (c) Not depends on levels (d) None of these

48. What type of digital modulation is widely used for digital data transmission ?
(a) Pulse amplitude modulation (b) Pulse width modulation
(c) Pulse positon modulation (d) Pulse code modulation

49. Given circuit works as :

(a) An Ideal integrator (b) Practical integrator
(c) An Ideal differentiator (d) Practical differentiator

50. Determine the output voltage for open loop differential amplifier using op-amp with
Vi, = 5uVde Vi, =—7 uvde, A =200,000, Ve =+ 15V Vg =—15V
Rinl

(a) 2.4 volt (b) +15 volt (c) —15volt (d) None of these
51. For an op-amp circuit CMRR is equal to
A A
d ocm d cm
a) b) v ) v d -
Ol v ®) © v @ A

52. Determine the voltage gain of the circuit

>

Vin
| R, R, Vout
RF R1+ R2 I{F
(a) 1 ® -} © g @ R,

53. The value of negative feedback fraction (p) is always :
(a) lessthan 1 (b) more than 1 (c) equaltol (d) None of these

Series-A 8 ELE




47. aRTUfieRToT IR 1 TR <l ST g A Toha ST Tehal &
(a) ®TH (b) @1
(¢) TR T et =i e (d) T4 T HIS T
48. %ﬁw@wﬁm%mmw%%ﬁwmwmwﬁwmw%?
(b) TeH SIS AT
(d) UcH HI HigIATH

49.

(b) fdeehar 3T
(d) et Tethlariex

50. T 37TaA o FESh R op-amp % foTw 311Seqe ateest fgifa &l =@t
Vi, = 5uVde V;, =—7 uVde, A =200,000, Voo =+ 15V Vg =15V

+Vee

Vin
(a) 2.4 volt (b) +15 volt (c) —15 volt (d) 379 T i3 ot TE
51. Terdt STTRIM UfeTHRR U9 %1 CMRR BT 2 :
Ad Vocm Ad
(@ % (b) v © v

52.

R,+R R
@ 1 ®) g, © "R @ %,

53. SehRIcH higseh 7T (B) 1 UM Hcd BId1 8 :
(a) ThEHHA (b) T & el (c) ThR () T H ST
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54. The relation between voltage gain with negative feedback (A;) & without feedback (A) is :

A
(@) Ap= 1_BA (b) A;= 1+ BA (c) A;=A(1-BA) (d) A;=A(1+BA)
55. Positive feedback is used in which of the following ?
(a) Rectifier circuit (b) Amplifier circuit
(c) Oscillator circuit (d) Detector circuit

56. In LC oscillator, the frequency of oscillations is given by
1

2 1
(a) ﬁ 0) () 2n(+/LC) @ 7=

57. Normally a push-pull power amplifier circuit uses which of the following operations ?

(a) Class A (b) Class C (c) Class B (d) Class AB
58. The output transformer used in a power amplifier is a transformer.

(a) 1:1 ratio (b) step-up (c) step-down (d) None of these
59. Emitter follower is used for

(a) Current gain (b) Impedance matching

(c) Voltage gain (d) Power gain

60. Find the maximum input frequency above which output will be distorted for 741 IC having
typical slew rate of 0.5 V/us & O/P range from + 14 Vto— 14 V.

(a) 2.12Hz (b) 8.93 kHz (c) 100 kHz (d) 500 kHz
61. High value of CMRR indicates matching between two input terminals is .
(a) better (b) bad (c) No relation (d) None of these
62. Which one of the following Power amplifier has maximum efficiency ?
(a) Class A (b) Class B (c) Class AB (d) Class C
63. Barkhausen criteria for oscillation is
(a) IBAI=1 (b) ZBA=3nt n=1,3,5
(c) Both (a) and (b) (d) None of these
64. Circuit given below is
A
¢ |o
|| |
I 1
—o o/p
Vin @
R
7777777
(a) An amplifier (b) An oscillator
(c) A high pass filter (d) A saw tooth generator

65. For an operational amplifier circuit with CMRR = 10% and differential gain Ay = 10°,
calculate the common mode gain.

(a) 10 (b) 100 (c) 0.10 (d) 1000
66. Where does the Q Point lie for Class B amplifier ?

(a) Active region (b) Cutoff region

(c) Saturation region (d) Between saturation & active
67. The input and output voltage of Common Emitter (CE) amplifier are

(a) 90° out of phase (b) 180° out of phase

(c) 270° out of phase ‘ (d) 360° out of phase

Series-A 10 ELE



54. THNICH HISSh o H1Y e 1 (A,) TR o1 HISseh o dleesl T4 (A) H FI qE9 g1 g ?
A A
@ Ac=7"ga ® Ar=T7ga (©) A;=A(1-BA) (d) A,=A(l +BA)
55. frafafaa @ 9 frot gehrrcnes higs 1 ST fhan Srar g 7
(a) URHER AR (b) TRawrR Afhe  (¢) e dfhe (d) feewe afere
56. TS HI ATEiciet # g i g forw fashen gra aftnfiya <6t s aekdt B ¢
2 1 1
@ = ) —— (¢) 2m(LC) @ e
57. ETHT=IGET Y-l ITaR Yaeis ufte f o & foha 31ie o1 S shiar 8 2
(a) FE A (b) FE C (c) ¥E B (d) FTE AB
58. e UfeThrr 8 ST B Tell 3A13ee e et o 4 fohdt ehr o1 2t @ 7
(@) 1:139@  (b) VI-3 (c) RU-B13A (d) 379 T HIS T
59. TfireT ®icio &HTA BIdT & & forq |
(a) 9T Y (b) et e (¢) ieds oy (d) dTER ATy
60. 741 IC % foTu stferepad $qe ST fepret frees S0t 3T1seqe forsp BT 3l RTh slew rate
(W) =0.5 V/us T BT+ 14 VA 14 VR
(a) 2.12 Hz (b) 8.93 kHz (¢) 100 kHz (d) 500 kHz
61. CMRR 1 3% 6 2l $7Ye ffedi o sftel firet <1 3T et 2 .
(a) SER (b) T (c) PEFEUT () FTHABE T
62. T4 & form uTer (TR <6 Stfirehan emar @ 2
(a) Class A (b) Class B (c) Class AB (d) Class C
63. IATHH & foTu aTeharee THes @ -
(a) [BA|=1 (b) ZBA=3nm n=1,3,5
(c) I (a) 3 (b) (d) 370 & 1S oft 7
64. = feuafhe = ) FEA T |
iﬁc'—*cﬁ&_m
(a) TCABRR (b) AT (c) SAUME et (d) &¢I I
65. T AT URAHRR qfitqy § CMRR = 10* 3R fSHRet o A = 10° 2 a1 381 SHiFd
g 1Y T B ?
(a) 10 (b) 100 (¢) 0.10 (d) 1000
66. FE B (sft) ufiteemrr % fore Q fog el feua grar 2 2
OIGEREE] (b) He-3TH &
(c) | &= (d) &t 3R |fsha < o= o
67. IO T (CE) URAHRR & 3TY 3T H13¢YL diedst 8d 8 :
(a) 90°FeT = (b) 180°Fe = (¢) 270°Ha o= (d) 360° Few o=
i I . e




68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

Crystal oscillator have a limitation of

(a) HighQ (b) Aging of the crystal

(c) High output (d) Less availability of quartz crystal
Permanent magnets used in instrument are hard core material due to the following reason :
(a) Their energy density is high. (b) They have broad hysterisis loop.
(¢) They have high (BH) . product. (d) All of these

For which of the following generator a Wein bridge oscillator is most suitable one ?
(a) AF generator (b) RF generator

(c) Function generator (d) Pulse generator

Ideal input resistance of a CRO should be of the order of :

(a) Fraction of an ohm (b) Tens of ohm

(c) Kilo ohms (d) Mega ohms

Value of resistance of an earthing electrode depends on
(a) Depth to which electrode is driven into earth

(b) Shape & material of electrode

(c) Specific resistance of soil

(d) All of these

Which of the following digital voltmeter uses the principle of voltage to time conversion ?
(a) Successive approximation type DVM

(b) Integrating type DVM

(c) Dual slope type DVM

(d) None of these

A sampling CRO is used for :

(a) VLF (b) LF (c) HF (d) VHF

Q factor is defined as

(a) Resistance/Reactance (b) Reactance/Resistance

(c) Resistance/Impedance (d) Impedance/Resistance

For measuring a very high resistance, one should use

(a) Wheatstone bridge (b) Megger

(c) Kelvin double bridge (d) None of these

A triangular wave shape is obtained

(a) by integrating a sine wave (b) by integrating a square wave

(c) by differentiating a sine wave (d) by differentiating a square wave

A 100 Hz sinusoidal voltage is connected to both X & Y plates of a CRO. Which of the
following waveform is seen on CRO ?

(a) Ellipse (b) Circle (c) Sine wave (d) Straight line

A set of reading has a wide range, therefore it has

(a) low accuracy (b) low precision (c) high accuracy (d) high precision
An op-amp is used in an electronic multimeter to perform which of the following functions ?
(a) Multiplier (b) Integrator (¢) Summer (d) Buffer Amplifier
In an instrument gross error occurs due to which of the following ?

(a) Instrumental error (b) Random error

(c) Human error (d) Environmental error

Which of the following bridge can be used for measurement of frequency ?

(a) Wein bridge (b) Maxwell’s bridge

(c) Heaviside Campbell bridge (d) Schering bridge
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68. Toreeet aATeieie <l weh HmT g 2
(a) 3= Q (R (b) TshEea 1 HTA-THTEH
(c) 3= 3TYL (d) TS Tsheeet shl S Icteerar
69. TR H Tard TR Trareh T BT T B1E R (core) TEF H B B
(a) BTohT il Bcd AT BT 2 | (b) ITeh! fER R o sreT BT 2 |
(c) ¥l (BH) 3G 3IHBAIR | (d) e gt
70. T 0 @ fopa Sie & foru i s stidfioier Tatfess suge @ 2
(a) LU, TR (b) IANTH. TRA  (c) BN T (d) Iod ST
71, 37eet fRufa ® weh CRO w1 9e wiore =1 o @ fopd 3w <1 €A1 =1feT ?
(a) AFH AN (b) 3 T IH (c) Terett amm (d) B 3|
72. i soeRTe o faly w1 AH f A @ ferm st st R 2
(a) 578 &R T SoTaers i et H STl ST # |
(b) IS 1 HTHR Ud IHHI T
(c) Yfwr =1 fafdre wfata
(d) 3o gt
73. =1 @ % o fefed aieafict, Ty 8 ony uitady & g s am s g ?
(a) ShiHeh Gfeehed TR 1 fgfTed dleeriet
(b) TS TR 1 fsforeat diearficx
(¢) TIEd e YR o1 fefieet aieeHier
(d) 3T 8 B T
74, TH el CRO (Ft 3R 37T) 1 Y40 foR ST 8
(a) VLF (b) LF (c) HF (d) VHF
75.  Q T[UT/eh I TR foha ST & -
(a) SfaQe / gfqara (b) Sfama / gfeia (¢) gfoia / Sfqamen (d) fasmean / gfadea
76.  3fa 3= gfaie =61 919 % foTw g1 = e =t
(a) SReRHHN  (b) TR (c) deasaasiiad  (d) 0 A HIE =&l
77. e Brenivfid qO SATehRfd ST hl ST Hehd! & -
(a) T AT S GHRhEH 9 (b) SRR TUT & THEREH &
(c) T & Teehed § (d) TR a0 o 3Teehei &
78. T 100 Hz HETEESH dicest CRO & X Td Y Wi § ST ST 8, df i | 9 |1 o &9
CRO 1 BhiA W fe@m 7
(a) QT (b) I (c) ST (d) deft T
79. 3fg {fe & U He i foqa <[@e 8 a1 3691 a1eTd & -
(a) FAIAGAT  (b) HHUNIRG (c) 3= FYredaT (d) 3= aRlfg
80. Wop-ampmwmmﬁﬁﬂﬁﬁﬁmqﬂﬁ%ﬁmw%?
(a) T (b) HHTHAR (c) IANTH (d) TH TEABRR
81. fTrftTadusa e dafrasrora g ?
(@ eIl () mEewIfe (o) AR (d) wtewfia 7fe
82. Tom1 o @ forw Bq o1 I 31 HTaw o fetw o smaeRar 2 7
(a) o forat ORECESAEE]
(c) BTETsE Hruse fsrat (d) ofa forat
i R o T




83. Maxwell’s Inductance-Capacitance bridge is suitable for measurement of inductance of :

(a) High Q coil (b) Low Q coil
(c) Medium Q coil (d) Low & medium Q coil
84. For lossless transmission line the condition for oo & f3 are :
(@ a=0,=0 (b) a=0,p=0 (c) a#0,p=0 (d) a#0,B=0

85. The main purpose of load matching is to avoid
(a) Reflected wave (b) Standing wave  (c¢) Both (a) and (b) (d) None of these
86. The reflection coefficient (p) over normalized load (Z)) is :
Z,—-1 Z,+1 Z,—1

@ 7,51 ® 7z © Z+1

(d) None of these

87. The value of SWR for complex impedance (Z)) is :
Assume characteristic impedance is Z,
Z V4

(a) Z—Z (b) ?0 (c) Either (a)or (b) (d) None of these
0 I
88. The range of SWRis
(a) —1to 1 throughO (b) + 1 to infinity ()
(c) 0 to infinity (o) (d) None of these
89. In single stub matching, the length of stub is
A | NZiZg A -1
a) —tan | ——— b) —(@©,+n— N
@ 2 (zl—z0 () Zp Grrmcos D
(c) Both (a) and (b) (d) None of these

90. A low loss transmission line of 100 € characteristic impedance is connected to a load of
400 Q. Calculate its voltage reflection coefficient.

=3 3

@ % ) 5 © 4 (d) —4

91. Find the current i, flowing in loop 2 in following circuit :
4Q 30
AN A
v (@) /\w %69‘/@ (Msa

(a) 0.5A (b) SA (c) 50 A (d 10A

92.  Which of the options is best suitable for following dependent source circuit ?
1 1
o - +
V] rmil Vz
(a) Voltage controlled V_oltage source (b) Current controlled voltage source

(c) Voltage controlled current source (d) Current controlled current source
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83. et 1 Sehed - Tiar A = 1 & fohereh Sehed o AT o T 3w @ 7
(a) 3= Qpueefl (b) =1 Q Fueeh
(c) HEIH Q FuSeAl (d) =1 @ 7w Q pusett
84. wfeRfEdcmimA oISt M pHadwng ?
@ a=0,p=0 (b) a=0,B=0 (c) a#=0,=0 (d) a=0,=#0
85. e fiet w1 g 3evd fr § & fopwent e 2 7
(a) TEfda (b) TSI T
(c) (a) 3R (b) TH (d) o & g T
86. TS TUTI (p) T A AHIRAhd R (Z,) I :
Z,—1 Z,+1 Z -1 , '
@ 777 ® 777 © 77 (d) ¥ & 1 Tl
87. Ueh g oirgd foraehl wnetfores wfanen Z, 2, % foTq SWR 1 9 %1 8 S Ueh Sfiee
SIfTe (Z,) | R & 2
z z . :
@ 7 ®) 7/ (©) (@)1 (b) (d) T FE T
88. SWR (TH.S 3TN, ) %1 IE FAT 211 8 ?
(a) — 191 (& 33 ) (b) + 1@ 3 (o)
() T 8 I () (d) 3T @ 5 T
89. T WH (33) it H wa & ofvars gt 8 ?
() ltan—l[—vzlzoj (b) i<el+n—cos—1ﬁ>
Z\ Z,-7Z, Z
(c) i (a) T (b) (d) 3T & I3 TE
90. 100 Q i erfores wfamer areft 9 g1 aTeft ZEfEE @8 400 Q YR ¥ JE ES © | 39H
Sieds TedH TUTieh 1 81Tl ?
@ = v © 4 @ -4
91. T ufiwy o qU-2 H 98 aTell 9T 1, 1A RS ?
4Q 30
10v f) ﬂ %69 KI-A C’T‘ 5A
(a) 0.5A (b) 5A (c) 50 A @ 10A
92. = few T HATf3a Hia qiae o fofw =i @ feorshed Faifersh Sfa @ 7
Vi Tl Vv,
(a) et Fafa aiees &g (b) &rT Ff=a dieest &
(¢) dieest fFaf=a g (d) am faf=a am e
e . e




93. Find the Z,, of the given & network.

lo |I Zg |I 0 )
[24] (2]
1 2
YAV Z,(Zy+Z)
A™B A\TB C
(a) Z, +Z (b) Z,+Z (c) d 77/
A "B B ~C Z,+Zy Zy+Zg+7Z:
94. Calculate the equivalent resistance (R.,) across terminal (ab) in following circuit.
1Q 1Q
3 NV N\

(Req)
5 11 6
@ie e 3e © 77 @ ¢ o

95. Given figure is a

| |
° | |
4 4
2 2

(a) Band pass filter (b) iow pass filter ~ (c) High pass %ﬂter (d) Band stop filter

96. High frequency response of the active filter is limited due to
(a) Gain bandwidth product of op-amp (b) Slew rate of the op-amp
(c) Both (a) and (b) (d) None of these

97. The co-axial cable is a line of an example of
(a) balanced line (b) unbalanced line (c) Both (a) & (b) (d) None of these

98. The unit of normalized load impedance is

(a) ohm (b) ohm/meter (c) unitless (d) None of these
99. is the one that employs a synchro transmitter and receiver pair.
(a) voltage telemetry system (b) current telemetry system
(c) frequency telemetry system (d) position telemetry system
100. RF telemetry system is usually more suitable if the data to be transmitted over the distance
greater than .
(a) 500 m (b) 100 m (¢) 950 m (d) 1km

101. A 5 channel d.c. to 50 Hz telemetry system uses PAM and PCM systems. What is the lowest
practical sampling rate for good quality data ?
(a) 1010 samples/second (b) 550 samples/second
(c) 125 samples/second (d) 1250 samples/second

102. X-Y recorder .
(a) records one quantity with respect to another quantity
(b) record one quantity on x-axis with time

(c) record one quantity on y-axis with respect to time on x-axis
(d) None of these
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93.

94.

9s.

96.

97.

98.

99.

f&2 TTq n—reah o foTT 7, 1 7 T 8 7

lo [ Zs | 02
2] (%]

leo 0?2
@ Zy+Zy () Zy+Ze © ziiZEB (@ %
ﬁmtr&qaésfjg(abl)gthﬁ?a (R,,) 1 9 T EM 7

A AN
20 320
Reg) 8

(a) IS—IQ (b) 15—19 (c) 1—619 (d) %Q

e e i fore YRR T B ?

I

1
Zl Z1
2 2
2 7,

(a) §5 U et (b) < U fheet (c) B8 U fheet (d) s W fheet
Hisha fheet 1 31 gt 3R foraes wror dfta B 8 7

(a) op-ampaﬂﬁ"vlé?{%rs’?ilﬂm (b) op-amp ﬁlﬁ%’c’

(c) SHI (a) T (b) (d) 378 3 IS T

THTE hadl TS Toh IR & -

(a) FGAAEART (b)) FEGAA AT () qHI (a) AR (b)  (d) TTH HHIS TE
[HTIHA IS Tl i 31 il &

(a) 3H (b) 31 /e (c) BEIPEAR  (d) THABETE

a8 B o feisht oot qer fefter 3m w1 seamret o Sram 2 |
(a) fova o @ (b) g eAmA dd  (c) M AW aF  (d) TH efwdl a

100. e gl et foeen 3TATd: fop it T Iuger & ?

101.

102.

(a) 500 . (b) 100 . (c) 950, (d) 1Tt

T 59 d.c. ¥ 50 &S eefudl fied PAM 3T PCM feen seauTet hial 8 | 31! Turar
el o fou fian Ufdeenet TmaferT et s gt 2

(a) 1010 TIA/BHUE (b) 550 THA/THUE

(c) 125 TTIe1/AhUS (d) 1250 YIA/HHIS

X-Y Teniet fiehie shtan @ -

(a) T AT ! GEL HIAT o HHDHE (b) x - 3787 U Ueh HTAT U o THHE

(C) y-3781 T T WA HH % THheT x-3181 T (d) 78 & hIS Tl




103. Strip chart recorder and x-y recorder are the types of

(a) Graphic recorder (b) Oscillographic recorder

(c) Magnetic tape recorder (d) None of these
104. Polymer thick film can act as a sensing element.

(a) True (b) False (c) Partially true (d) None of these
105. Which of the following are the most commonly used displays along with microcontroller ?

(a) LEDs (b) LCDs (c) 7 segment display (d) All of these
106. Device that detects optical signal is known as

(a) Photodetector (b) Diode (¢) Tunnel diode (d) BJT
107. The operation of is based on the phenomena of electroluminance.

(a) Diode (b) MOSFET (c) LED (d) Varactor Diode
108. The main difference between a Phototransistor and a Photodiode is

(a) Current gain  (b) Voltage gain (c) Power gain (d) None of these
109. Semiconductor material used for manufacturer of LED is

(a) Germanium (b) Gallium Aresenide Phosphide

(c) Boron (d) Indium

110. VHF (Very High Frequency) Band ranges from
(a) 3to30MHz (b) 30to300KHz  (c) 30to300 MHz (d) 300 to 3000 Hz

111. Piezo-electric transducer are

(a) Passive and inverse transducer (b) Active and inverse transducer

(c) Active and direct transducer (d) Passive and direct transducer
112. The liquid used in LCDs are

(a) Nematic (b) Tantalum (c) Oil (d) Electrolyte
113. The Dot-Matrix LED display is used to display

(a) Only alphabetic characters (b) Alphanumeric characters

(c) Only numeric characters (d) None of these
114. In potentiometer, standarization is done to make the instrument

(a) Sensitive (b) Accurate & direct reading

(c) Precise (d) Stable

115. Photoelectric devices can be categorized as
1. Photoemissive
2. Photoconductive
3. Photovoltaic
(@) land2only (b) 2 and 3 only (c) 1and 3 only (d) 1,2and3

116. Resistance strain gauges are also known as

(a) Piezoresistive gauges (b) Piezoelectric gauges
(c) Piezomagnetic gauges (d) Piezoconductive gauges
117. The transformer of LVDT consists of a primary winding and secondary
windings.
(a) one, two (b) two, two (c) three, two (d) one, one

118. Thermocouple is made of two metals connected together.
(a) dissimilar (b) similar (c) thin (d) thick
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103. e =mé fhiet ud x — y Fehiet fha ThR & & 7

(a) TTitheh Rehlet (b) TN Rehret
(c) Treeha 3 fiapiet (d) T8 T IS Tl
104, GifeTaR 71 ot SfT <1 shTH T Hehdll 2 |
(a) T (b) IrEH (c) FOEQGAH TG (d) TTH A IS A&l

105. 378 T i< 1 Gy SATET HTgshIohre ol o A1 fe@™ & o sequret fepan Srar 2 2
(a) LED (T@.3.80.)(b) LCD (TA.H.E1.) (c) Ha e feot  (d) Ig o
106. H(Tehel Hohd ol Tg=H- ST A SAH A HHA TR 7

(a) BRITSRT (b)) SHTE (c) T SIS (d) BIT (ffr.3.d.)
107. ST o fHGd T ETH 8 H HH AT 7

(a) SHETS (b) ATH%S (c) TAZ.E. (d) RFX TS
108. I I TF BIel SRS T EId: &1 %eb BT 8 7

(a) TRTE ORELERIE] (c) IR (d) T ° HIS T
109. LED (Tet.3.€.) =l s o fo7u foper Tfiehrearet & b1 SecmTet foharm Siran & 2

(a) SHFEH (b) TifeTam TEATEE BIEkhISS

(c) S (d) sfugam

110. Sgd 3 AT §US h HHT B @ -
(@ 3W30MHz (b) 308300KHz (c) 308300 MHz (d) 300 ¥ 3000 Hz

111, fisi-geifa gaggem @ -

(a) Uit 3TN 3 CHgTE (b) TfFed 3TN $aH JESTR

(c) Tfdea 3R TR TiHgTE (d) I 3TN ST JHSTE
112. LCD (Tt €t €Y) ® Ygad §H dTei 59 &

(a) THfch (b) = (c) d (d) SeiFIerse
113. Tef¥td i o fofe gfe-Afeam LED feoxt 1 39 fepan Sman 2 |

(a) It AUITIEHH 318 (b) TR 37&R

(c) helel 3ok & (d) 70 9 1S T
114. forvemrd o1 yamofientor safere foma STt 8 aifer Sushtor =1 ST Eeh |

(a) HACAIMTS ST (b) I IR LY I 7 ST

(c) UNElg SR (d) & (fer) samn

115. II-Feifeigeh IThLUT sh1 30 JehR arrffehel fehal 1T Eehal B
1. BRISHESS 2. Wil aOds 3. Il difedsh
(a) A 1 3R2  (b) hawT 2 3R 3 (c) haet 1 33 (d) 1,23M3
116. Sfetier fg=ma st o1 i Hgd & |
(a) N IFfea 19 (b) ISt s I (c) TS dRRE 9 (d) S wesfdea T

117. LVDT ZEBHR A TTfies 31 factae pusefl B 2 |

(a) Th, (b) @, (c) oM, @ (d) TH, TH
118. mishyd Sl YTg3Ti & S & ST 2 |
(2) AR TEE  (b) TS (c) ot @ e
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119.

120.

121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

Quality of a muscial sound depends on
(a) Frequency of a note (b) Amplitude of the vibrations
(c) Presence or absences of overtones (d) None of these

The natural impedance of a ribbon microphone is
(a) low (b) very low (c) high (d) very high

Which of the following is/are advantage(s) of multi-speaker system ?
(a) Intermodulation distortions reduced  (b) Smooth overall response is obtained
(c) Flexibility of performance is provided (d) All of these

The Kell factor used in Television scanning system has a
(a) Constant value (b) Value varies from 0.64 to 0.85
(c) Value depends on scanning (d) None of these

In which of the following, hue control is necessary ?
(a) PAL system (b) NTSC system (c) SECAM system (d) None of these

Which of the following camera tube has a higher sensitivity ?
(a) Iconoscope camera tube (b) Image orthicon camera tube
(c) Both (a) and (b) (d) None of these

For compatability, the colour TV system must satisfy which of the following conditions ?
(a) Must have same Bandwidth of 5.5 MHz

(b) Must use the same 7 MHz standard channel of TV

(c) Must employ the same line & frame synchronization pulses

(d) All of these

In a colour picture tube degaussing is performed for the following reasons :
(a) Magnetization of steel & iron parts (b) Demagnetization of steel & iron parts
(c) Electrification of steel & iron parts (d) None of these

What is approximate speed of sound in dry air at normal room temperature ?
(a) 334 m/sec. (b) 600 m/sec. (c) 840 m/sec. (d) 800 m/sec.

A loudspeaker converts
(a) Electrical energy to mechanical energy (b) Acoustic energy to electrical energy
(c) Mechanical energy to electrical energy (d) Electrical energy to acoustic energy

The head used in tape decks performs the following functions :

(a) recording (b) reproduction (c¢) (a)and (b) both (d) None of these
A low pass filter can cut

(a) The lower end of the audio spectrum (b) The higher end of the audio spectrum
(c) (a)and (b) both (d) None of these

On the compact disk, the information is present in the track in :
(a) Analog form (b) Digital form (¢) (a)and (b) both (d) None of these

In NTSC system, the two colour difference signals are
(a) Transmitted together (b) Not transmitted together
(c) Transmitted in quardature (d) Transmitted in anti phase
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119. Giffawa eaf &t Torer 36 T FR el 2 -
(a) HIe < TR (b) U T A
(c) e shi Sufedfa sroen sruieafa (d) 70 & 18 e
120. T & ATShIBH 1 SThfceh S g & ?

(a) = (b) Afa = (c) 3 (d) 3fa 3=
121. 7 5 ¥ nedefio foed &1 /% SF a1 /A BRI B /3 7
(a) STTATGIIT TerEuuT 3 BIell € | (b) Trater v wlifrn s g 2 |
(c) WG ol =TI JEH e 2 | (d) 3o+
122. efifas Shfa faeen o ST fohy ST aTet Shet Shefet 1 AH BT 2
(a) A (b) 0.64 ¥ 0.85 Tqeh THadIe
(c) Tt g | (d) T4 O $IS T

123. T 6 9 fererd T foraaror sremaes 2 7

(a) PALYUERt  (b) NTSC JorTedt (c) SECAMYUTeRt  (d) 378 © IS &
124. T % @ fopm o0 28 i Hagsiiardr 3= Bl § 7

(a) SATEHMIEHT HAT I (b) SES TR HHT TS

(c) (a) 3N (b) G (d) T8 T T
125. 31Ratdr o fore TfT et soreft =6t e § | forg 31d 61 oM ST R/ 7

(a) 5.5 WMELS! <h! THH Sefagy gl =1y |

(b) 3T 7 TGS Uk el Dt <1 TN ST =1ET |

(c) THH AT 3T hH Fa=hITSIoiT e o1 T shiT =1y |

(d) I8 adl

126. T o T8 | S e shron & 1 91 2 -

(a) TS 3R 18 o ol o1 Frachiebtwr  (b) Wl 3R A8 o foi ot forgrarena

(c) Wiet 3T AR o i bt foggeiontor  (d) 570 @ 1S &l
127. FTH AL < A9 T Yh &A1 H At h TTfd T fohal gt 8 2

(a) 334 HRUAFTS (b) 600 MYBHUE  (c) 840 HWTHTE  (d) 800 Hiey/Ahve
128. T AT Seetdl &

(a) Torega St =t =it St | OREEESIEIRCEETIR:]

(c) Ik St bl feregd ot o (d) Tergga St =1 ety Soott &
129. 39 S | THIT feran T et 2 i e Har R

(a) Terifdn OREIESE (c) (a) 3 (b) AT (d) 374 | IS Tl
130. T 1 U el R Hhear g ?

(a) AT Seren o1 Torren Tawn (b) =T SereH 1 Hd fem

(c) (a) 3 (b) T (d) ST & BrE T

131. i fewh W de | g1 form & 4 wfad gt g 2

() WEMEIH  (b) S ®Id () (@) IR (b)QH  (d) TTH IS T
132. NTSC foreeq # el shoR =R faad w1 s fran Sran g 7

(a) CFI <! 1Y § U7 AT 8 | (b) ST o |TY T T AT AT B |

(¢) T <! TS Tt H WA AT 8 | (d) T ot Torodia et o W ST B |
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133.

134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

146.

147.

148.

Which among the following is lower limit frequency of human ear ?

(a) 20 Hz (b) 122 Hz (c) 200 Hz (d) 221 Hz
The unit of sound pressure used for rating microphone is
(a) Pascal (b) Bar (c) Watt (d) Decibel

A true infinite baffle completely eliminates :
(a) Doublet action (b) Speaker resonance (¢c) Acoustic coupling (d) None of these

The width of a standard reel tape used in magnetic recording is

1 1
(a) 1 inch (b) 3 inch (¢) Sinch (d) None of these
For converting an analog signal from microphone into digital signal, which of the following
isused ?
(a) AM (b) FM (c) PCM (d) None of these
A Bass reflux enclosure is often referred as
(a) A series tuned circuit (b) A parallel tuned circuit
(c) An acoustic lens (d) An acoustic phase inverter
Satellite link BER (Bit Error Rate) typically is around
(a) 1072 (b) 1074 (c) 10°° (d) 1078
Overall frequency arrangement of transponder lies in typically :
(a) L-band (b) C-band (c) X-band (d) Ku band
At microwave frequencies, the wave propagation occurs as
(a) Ground wave (b) Space wave (c) Sky wave (d) All of these
A wave whose frequency is 9 GHz, falls in which band ?
(a) L (b) X (c) C (d) None of these
The Gunn effect occurs in semiconductors only when doped with
(a) N-type impurities (b) P-type impurities
(c) No doping (d) All of these
Among given options, identify the wideband microwave amplifier.
(a) Two Cavity Klystron (b) Reflex Klystron
(c) Multi Cavity Klystron (d) TWT (Travelling Wave Tube)
If the minimum range is to be doubled in a Radar, the peak power has to be increased by a
factor of
(a) 4 (b) 8 (c) 16 (d) 32
Radar principle is used in
(a) Detection of aircraft (b) Telephony
(c) Electron Microscope (d) All of these
The height of Geo-Stationary Satellite is .
(a) 32786 km (b) 35786 km (c) 36990 km (d) None of these
In Radar system, time interval between successive pulses of clock are referred to as
(a) Pulse reallocation (b) Pulse retriving

(c) Pulse repetition rate/time (d) Post reallocation time
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Which among the following optical cable offers lowest dispersion ?
(a) SMSI (Single Mode Step Index) (b) MMSI (Multi Mode Step Index)
(c) MMGI (Multi Mode Graded Index)  (d) None of these

Which of the following characteristic is exhibited by the LASERs ?

(a) Spatial coherence (b) Temporal coherence

(c) Both (a) and (b) (d) None of these

Generally the attenuation in optical fibre cable is measured in

(a) dB/km (b) dB/m (¢) KdB/m (d) dBm/m
Transmission of signal through optical fibre is in the form of

(a) sound (b) electricity (c) light (d) speed

An optical transmitter transmits 10 watt power, compute its equivalent power in dBm.
(a) 10 dBm (b) —40 dBm (¢) 30 dBm (d) 40 dBm

In optical communication, compute the total energy, if energy of each photon is 1 J and the
total 1000 photons are emitted by the system :

(a) 1] (b) 100017J (c) 0.00117J (d) 10017J
What is the numerical aperture of the fibre, if angle of acceptance is 30 degree

(a) 0.50 (b) 0.36 (c) 0.20 (d) 0.27

A single mode fibre has a beat length of 4 cm at 1200 nm. What is birefringence ?
(a) 2x107° (b) 1.2x107 (c) 3x107 (d) 2
Distance bandwidth product is maximum in .

(a) SIMM fibre (b) GIMM fibre

(c) SM (Single Mode) fibre (d) None of these

Bandgap energy for a material is given by E, = 1.24 eV, choose the correct option for the
wavelength (1) at peak emission.

(a) 0.75 um (b) 1.0 pm (¢) 1.24 um (d) None of these
The commercial FM radio band operates between frequency range.
(a) 20to20kHz (b) 30 to 400 kHz (¢) 2to4 GHz (d) 88to 108 MHz

Which of the following is full form of CDMA ?
(a) Computer Division Multiple Access (b) Code Division Multiple Access

(c) Common Data Multiple Access (d) Computer Data Multiplexing Access
Which of the following frequency band is assigned to GSM communication ?
(a) 100 and 200 Hz (b) 1to2 GHz

(c) 900 and 1800 MHz (d) 100 to 400 GHz

WLL stands for

(a) World Local Loop (b) Wireless Local Loop

(c) Wireless Level Loop (d) World Wireless Loop
Frequency reuse is the concept of

(a) TV system (b) Audio Amplifier

(c) Cellular mobile radio system (d) PA system

FDMA stands for

(a) Frequency Division Multiplexing Access
(b) Frequency Data Multiplexing Access

(c) Frequency Division Multiple Access

(d) None of these
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Calculate the maximum number of users that a GSM can support simultaneously within a
single cell.

(a) 680 (b) 790 (c) 992 (d) 890
The widely accepted shape of cell in cellular network is
(a) Triangular (b) Hexagonal (c) Circular (d) None of these

Capacity in cellular link can be increased by

(a) Adding new channel & frequency borrowing
(b) Cell splitting and cell sectoring

(c¢) Forming microcells and picocells

(d) All of these

What is the data rate or speed offered by GPRS connection ?
(a) 56-115Kbps (b) 9-256 Kbps (c) 64-128 Kbps (d) None

The quality of service of cellular network is determined by which of the following
probabilities ?
(a) New Call (b) Hand off Call (c) Both(a)and (b) (d) None of these

Which of the following expression defines the data rate for a noisy channel ?
Here B is bandwidth in Hz & S/N is signal to noise ratio.

S S
(a) C=B10g2(l+ﬁj (b) C=Blog10(l+ﬁj
(c) C=B (l + %) (d) None of these
Which of the following RF ID tag has generally lowest range ?
(a) Active (b) Semi-Passive (c) Passive (d) None of these
The frequency band of conventional Blue-tooth system is
(a) 2.1 GHz (b) 2.3 GHz (¢) 2.4GHz (d) None of these
GPRS network is a part of in GSM network.
(a) BTS (b) BSS (c) NSS (d) VLR
Which of the following is a 2.5 G CDMA standard ?
(a) IS-95 (b) CDMA -2000 (c) IS-95B (d) CDMA - One
Which of the following is not a property of spread-spectrum techniques ?
(a) Frequency Planning elimination (b) Interference rejection capability
(c) Multipath Fading (d) Multiuser, Multiple access interface
Frequency hopping changes which of the following on regular interval ?
(a) time (b) code (c) frequency (d) hop
The maximum length of a PN sequence, that a linear shift register of size m can produce
is
(a) 2m (b) m (¢) 2m (d) (2m — 1)
The essential features of GSM Technology
(a) Frequency hopping (b) Use of SIM cards
(c) Discontinuous transmission (d) All of these
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179. In a PNP transistor, base is :
(a) Lightly doped (b) Heavily doped (c) Moderately doped (d) None of these

180. Which type of MOSFET uses physically implanted channel ?

(a) Enhancement (b) Depletion (c) Both(a)and (b) (d) None of these
181. Punch through effect occurs in

(a) Long channel devices (b) Short channel devices

(c) Inductors (d) Transformers

182. The capacitance of a reverse biased P-N junction :
(a) increases with increasing the reverse bias
(b) decreases with increasing the reverse bias
(c) depends only on reverse saturation current
(d) makes the P-N junction more effective at high frequencies

183. The Input control parameter of a JFET is
(a) source voltage (b) drain voltage (c) gate voltage (d) gate current

184. Choose the correct expression for the Fermi-Dirac probability function :

1
(a) f(E)= - (b) f(E)=
1+e®-ER/KT 1+e"F TP KT
1 1
(c) f(E)= - (d) f(E)=
1-e®PRKT 1+ PRKT
185. Choose the correct name of the following device symbol :
¢D
g |
o | oB
°S
(a) P-channel D-MOSFET (b) n-channel E-MOSFET
(c) P-channel E-MOSFET (d) n-channel D-MOSFET
186. Which parameter controls the instantaneous drain current (i) in low frequency FET model ?
(@) ip=1(Vgg Vpg) (b) ip=1(Vge igg)
(¢) ip=f(Vpg, igs) (d) ip=1f(Vgs» Vss)
187. The alternative name of source follower configuration is :
(a) Common drain (b) Common source (c¢) Common gate (d) None of these
188. Choose the correct name for the following symbol :
OB2
Ee \
oB]

(a) JFET (b) Tunnel diode (c) UIT (d) Schottky diode
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What is the standard thickness of the depletion layer in semiconductor materials ?

(a) 1072 meter (b) 107 meter (c) 107 meter (d) 10712 meter
What type of gate biasing is used in a JFET ?

(a) forward (b) reverse

(c) forward as well as reverse (d) None of these

Which one is the correct input impedance relationship of a JFET in comparison to an
ordinary BJT transistor ?

(a) Equal to (b) More than (c¢) Less than (d) None of these
In a P-channel MOSFET, the substrate :

(a) is P-type (b) is N-type

(c) may be P-type or N-type (d) None of these

The collector leakage current in a transistor is 300 pA in CE arrangement. If the transistor
is now connected in CB arrangement, what will be the leakage current ? Given that 3 = 120

(a) 2.4 pA (b) 4.6 pA (c) 8.2mA (d) 1.2mA
The 8421 BCD code of the decimal number 1507 is
(a) 0011 1000 0010 0000 (b) 0001 0101 0000 0111
(c) 00000001 0001 0101 (d) 0000 1001 0000 0111
The output of the given logic circuit is

A

B

y
~

Co—— /

(a) A-B-C (b) A-B-C (c) A-B.C (d) A-B-C

Simplified form of the logic expression given below is :

Y = AB+A+AB

(a) B (b) A (c) 1 (d) 0
The simplified form of the below given expression is

A=XY + XZ +XYZ (XY + Z)

(a) XY (b) XY (c) 1 d o

For a Half Adder circuit with input A and B, the expression for sum (S) and carry (C) can
be given as :

(a) S=AB+ABandC=AB (b) S=AB+ABandC=A-B
(c) S=AB+ABand C=AB (d) S=AB+ABand C=AB
In which form the expression Y = AC + BD + EF is known as :

(a) Product Of Product (POP) (b) Hybrid

(¢) Sum Of Product (SOP) (d) Product Of Sum (POS)
The 1’s complement of the number 11100110 is :

(a) 01011001 (b) 00011010 (c) 00011011 (d) 00011001
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(a) 0011 1000 0010 0000 (b) 0001 0101 0000 0111
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1 feu o Aifors ity 1 33ee & -

B

Yy

C
(a) A-B-C (b) A-B-C (c) A-B-C (d) A-B-C
= few T ATtoren fiehtor ST EReteRtor e -
Y = AB+A+AB
(a) B (b) A () 1 (d 0

et feu U =S T ATH FT TR ?
A=XY + XZ +XYZ (XY + Z)

(a) XY (b) XY c) 1 d 0

FTYe A 3T B o |11 Teh &% UL Hfche 3T AN (S) TAT it (C) o foru fm =iies fean s aepan & -
(a) S=AB+AB 3R C=AB (b) S=AB+AB3IRC=AB

(c) S=AB+AB 3 C=AB (d) S=AB+AB 3 C=AB

&9 Y =AC+BD+EFfmdafrasudag?

(a) M 1 UH%e (POP) (b) FUTEHT

(c) %S 1 AN (SOP) (d) JWT T PHEHA (POS)

T 111001101 I’s piAfem g d a s aEng ?
(a) 01011001 (b) 00011010  (c) 00011011 (d 00011001
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